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В4H4т4 пJD64 EтJпк4: Н4пD46ете теEт4 74 к4D8еDе= пDоD8л! �4 д4 74поG=ете,

=4пD46ете =4H8я теEт 74 к4D8еDе= пDоD8л. То78 леEе= 74 87пол764=е 8=EтDу<е=т

Iе 68 по<о7=е д4 8де=т8D8F8D4те 64H8те л8G=8 GеDт8, т4л4=т8 8 EтD4Eт8 8 Iе 68

пDедло68 6J7<о6=оEт8 74 к4D8еD4 6 Eу<4=8т4D=8те 8 EоF84л=8те =4ук8.

!тD4Eт=8 л8 Eте д4 пDо<е=8те E6ет4? �Eк4те л8 д4 =4<еD8те к4D8еD4, която

EJот6етEт64 =4 64H8те 8=теDеE8, Fе==оEт8 8 у<е=8я? В Human Jobs E<е тук, 74 д4

68 по<о7=е< д4 пDоуG8те 6Jл=у64I8 8 EоF84л=8 EектоD8, ко8то EJот6етEт64т =4

64H8те E8л=8 EтD4=8. Ето к4к6о Iе 68 по<о7=е теEтJт.

Какво е Human Jobs?

Human Jobs е =еIо по6еGе от то64,
което пDоEто откD864те: оIе ед=4
к4D8еD=4 пл4тDоD<4. То64 е 64Hето
тD4=EDоD<8D4Iо пJтеHеEт68е,
пDед=47=4Gе=о д4 по<о7=е =4 <л4д8
EоD4 по E6ет4 к4то 64E д4 откD8ят
удо6лет6оDя64I8 к4D8еD=8 пJт8I4,
д4 D4768ят оE=о6=8 у<е=8я 8 д4
ок464т Dе4л=о 6л8я=8е 6JDEу E6ет4.
Не7468E8<о д4л8 Eте Eтуде=т, ко9то
Eе оп8т64 д4 опDедел8 5JдеI4т4 E8
к4D8еD4, 8л8 =яко9, ко9то 6 <о<е=т4
=е уG8 8л8 =е D45от8, Human Jobs
D47пол474 E 8=EтDу<е=т8, ко8то д4 68
6одят пDе7 6Eяк4 EтJпк4 от 64Hето
пJту64=е.

В4H8те 3 =49-646=8 л8G=8
к4GеEт64 8 к4к6о о7=4G464т те
6 E6ет4 =4 пDоDеE88те
В4H8те т4л4=т8 8 EтD4Eт8
E6JD74=8 E к4D8еD4 6
Eу<4=8т4D=8те =4ук8 
К4к д4 74поG=ете к4D8еD4 6
Eу<4=8т4D=8те =4ук8, доD8
4ко =я<4те пDед8Hе= оп8т 

�4Iо д4 875еDете Human Jobs?

�Jтек8: 
пеDEо=4л878D4=8 =4Eок8 74
к4к д4 пDеEлед64те к4D8еD4, 
която
EJ6п4д4 E 64H8те Fе==оEт8.

  4768т8е =4 у<е=8ят4: �олуGете 
доEтJп до о5уGе=8е GDе7 
<8кDоо5уGе=8е 8
DеEуDE8 =4
D4768ете =4 у<е=8ят4, 
=ео5Eод8<8 74 уEпеE.

 ВJ7де9Eт68е 6 Dе4л=8я E6ят: 
�4по7=49те Eе E к4D8еD4т4 6 
EоF84л=4т4 D45от4,
 - к4D8еD8, 

ко8то E4 646=8 74 64E 8 
о5IеEт6ото.


